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1. Exploration 1
Table 5.1
	Bias point measurement

	Node
	A
	B
	C
	D
	E

	Voltage
	
	
	
	
	

	Current transfer ratio

	
	
	
	

	Current transfer ratio (with R1A shorting)

	
	
	
	

	Current mirror (remove RXA and connecting B and D)

	IA
	
	IB
	


2. Exploration 2
Table 5.2
	R2 (kΩ)
	5.1
	10
	20
	47
	100

	Vin (V)
	
	
	
	
	

	IOUT (mA)
	
	
	
	
	


3. Exploration 3
Table 5.3
	RS (kΩ)
	1
	2
	5.1
	10
	20

	Iin (mA)
	
	
	
	
	

	Vout(V)
	
	
	
	
	


4. Problem 1
In Exploration 1, after removing R1A and R2A, does the current IB become two times of IA? If not, try to figure out the reasons.
5. Problem 2
Please try to explain the mechanism of the circuit Fig. 5.7 and
list the advantages of the circuit over the Fig. 5.6.    
6. Conclusion
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